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HFRHPR=TH 106 - 1 * X HTHT R 95
X R =TH 106 - 1 P XTI BT 3 155 = 5
HFRHPR=TH 106 - 2 * KR R 100
X F g =T [ 106 - 2 et BT 101 - 1
HFRHPR=TH 106 - 2 * X HTHT R 101 - 2
FXHPR=TH 106 - 2 et BT 102
PR =T H 106 - 2 s DCETHT BT 28 151
X R =TH 106 - 2 P XTI BTHT 3 152
PR =T H 106 - 2 s DCETHT BT 28 153
FXHR=TH 106 - 3 et BT 103
PR =T H 106 - 3 s DCETHT BT 2 148
FXHPR=TH 106 - 4 et BT 104
PR =T H 106 - 4 s DCETHT BT 28 140
FXHR=TH 106 - 5 et BT 106
PR =T H 106 - 5 s DCETHT BT 28 139 - 2
FXHPR=TH 106 - 6 et BT 107
HFRHPR=TH 106 - 6 * X R 108
X R =TH 106 - 6 P XTI BTHT 3 138
HFRHPR=TH 106 - 7 * P X HTHT R 109
X R =TH 106 - 7 P XTI BTHT 3 135
PR =T H 106 - 7 s DCETHT BT 2 137
PR =TH 106 - 8 HCETHT A 113
HFRHPR=TH 106 - 9 * X HTHT R 1t -3
FXHR=TH 106 - 9 et BT A 112
PR =T H 106 - 9 s DCETHT BT 28 129
X R =TH 106 - 9 P XTI BTHT 3 130
PR =T H 106 - 9 s DCETHT BT 28 131
X R =TH 106 - 9 XTI BTHT 3 132
PR =T H 106 - 9 s DCETHT BT 2 133
X R =TH 106 - 10 XTI BT 3 134
PR =T H 106 - 10 s DCETHT BT 28 135 - 1
PR =TH 106 - 11 HXCHTRT BTHT 139 - 1
PR =TH 106 - 12 HCETHT ROR 216 - 5
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PR =T H 106 - 13 s DCETHT BT 28 139 -3
X R =TH 106 - 13 P XTI BT 3 140 - 2
HXHR=TH 106 - 14 e AT R 95 - 2
FXHR=TH 106 - 14 P XTI R AR 96
PR =T H 106 - 14 s DCETHT BT 28 165 - 3
X R =TH 106 - 15 KT BT 3 155 - 2
HXHR=TH 106 - 15 o AT T i 88 - 2
X Fge =T [ 106 - 15 o AATIAT I 2 88 - 6
PR ="TH 106 - 16 i R HEIART A B 148
X F g =T [ 106 - 16 * AR AT T 148 - 2
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